Day 1 Homework

In Exercises 1-4, use graphs and tables to find (a) 11_1,13 f(x),(b) xli]}‘lm f(x) ,and

(c) Identify all horizontal asymptotes.
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Evaluate the following integrals (disregard numbering...).
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DaY 2 Homework

r d}ln Exercises 1-4, estimate the limit graphically. Use L’Hdpital’s Rule to confirm
your estimate. e S e &
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In Exercises 5-8, use L’Hdpital’s Rule to evaluate the limit.
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In Exercises 9 and 10 (a) complete the table and estimate the limit. (b) use
L’Hépital’s Rule to confirm your estimate.
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In Exercises 11-14, use tables to estimate the limit. Confirm your estimate using
L’Hépital’s Rule.
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In Exercﬂi‘se_s 15-42, use L’Hopital’s Rule to evaluate the limit.
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aY 3 Homework

In Exercises 1-5, (a) state why the integral is improper or involves improper

integrals. Then, (b) determine whether the integral converges or diverges, and (c)
evaluate the integral if it converges.
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In Exercises 7-26, evaluate the integral or state that it diverges.
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